




1, 7, 19,   40,   61,   91

1.7
2.19
3.40
4.61
5.91



337.8 × 331.2 ÷ 335 = 33 × 33?

1.1
2.3
3.5
4.8
5.4



The ratio of ages of A's grandfather and his father 14 years ago was 5 : 3. The present age 

of A's grandfather is 7/2 of A's age. If the age of A 8 years ago was 16 years, then find the 

sum of present ages of all three?

1.158 years
2.161 years
3.164 years
4.170 years
5.162 years

14 वर्ष पहले A के दादा और उसके पपता की आयु का अनुपात 5: 3 था। A के दादा की वतषमान आयु A 
की आयु की 7/2 है। यदद 8 वर्ष पहले A की आयु 16 वर्ष थी, तो तीनों की वतषमान आयु का योग ज्ञात 
कीजिये?



80,   119, 166,   221,   223

1.80
2.119
3.166
4.221
5.223



11 × 66 – 21 × 22 + 91 × 19  = ?

1.1993
2.1994
3.1995
4.1996
5.NOT



16, 40,    100,    250, 630, 1562.5

1.16
2.250
3.630
4.40
5.1562.5



A shopkeeper allows three different discounts on marked price of an item. He allows 10%, 

15% and 20% discount. The selling price of an item after discount is 6120rs. Cost price of 

an item is 50% less than the marked price of an item. Find the cost price of an item?

1.Rs.13000
2.Rs.15000
3.Rs.5000
4.Rs.4000
5.Rs.10000

एक दकुानदार दकसी वस्तु के अंदकत मूल्य पर तीन अलग-अलग छूट देता है. वह 10%, 15% और 20% 
छूट देता है। छूट के बाद एक वस्तु का पवक्रय मूल्य 6120 रुपये है. दकसी वस्तु का क्रय मूल्य दकसी 
वस्तु के अंदकत मूल्य से 50% कम होता है। दकसी वस्तु का क्रय मूल्य ज्ञात कीजिये?



X can do a piece of work in 10 days while Y can do the same work in 15 days. They work 

for 5 days. The rest of the work was finished by Z in 2 days. If they get 3000rs for the 

whole work, the daily wages of Y and Z together is?

1.Rs 500
2.Rs 400
3.Rs 250
4.Rs 450
5.Rs 200

X एक कायष को 10 ददनों में कर सकता है िबदक Y उसी कायष को 15 ददनों में कर सकता है। वे पांच ददन 
काम करते हैं। शेर् कायष Z द्वारा 2 ददनों में पूरा कर ललया गया था। यदद उन्हें पूरे काम के ललए 3000 
रुपये लमलते हैं, तो Y और Z की दैलनक मिदरूी क्या है?



65% of 800 – 56 ÷ ? = 29

1.5
2.6
3.7
4.8
5.9



The ratio of the number of literate and illiterate peoples in a village is 5 : 2. From this, 

60% of literate and 40% of illiterate people are males. Find the ratio of number of literate 

and illiterate females in the village?

1.4 : 3
2.2 : 3
3.3 : 2
4.5 : 3
5.5 : 2

एक गााँव में साक्षर और अलशजक्षत लोगों की संख्या का अनुपात 5: 2 है. इसमें से 60% साक्षर और 40% 
अलशजक्षत लोग पुरुर् हैं। गााँव में साक्षर और अलशजक्षत मदहलाओं की संख्या का अनुपात ज्ञात कीजिये?



[(22)2 × 2 ÷ 22] ÷ 44 × 5 – 1 = ? – 124

1.628
2.738
3.724
4.728
5.NOT



A train of 210 m length passes a pole in 15 seconds. Find the difference in time for the 

train to cross the driver and the guard of another train of length 100 m going in the same 

direction with a speed of 36 km/hr?

1.20 seconds
2.25 seconds
3.30 seconds
4.40 seconds
5.35 seconds

210 मीटर लम्बी एक टे्रन एक खंभे को 15 सेकंड में पार करती है. 36 ककमी/घंटा की गतत से समान 
किशा में जा रही 100 मीटर लंबी िसूरी टे्रन के चालक और गाडड को पार करने के तलए टे्रन के समय में 
ककतना अंतर ज्ञात कीजजये?



29, 30,   62,   190,   760,   3805,   22836

1.62
2.3805
3.190
4.22836
5.30



P and Q are friends investing in ratio of 2 : 3 in a portfolio. After 9 months P withdraws 

all his money and at the end of term they receive profits in ratio of 3 : 8. Find the term of 

investment of Q in months?

1.12
2.11
3.20
4.24
5.16

P और Q एक पोटषफोललयो में 2: 3 के अनुपात में लनवेश करने वाले लमत्र हैं। 9 महीने के बाद P अपना 
सारा पैसा लनकाल लेता है और अवलि के अंत में उन्हें 3 : 8 के अनुपात में लाभ प्राप्त होता है। महीनों 
में Q के लनवेश की अवलि ज्ञात कीजिये?



888 + 88.8 + 8.88 + 8 – 1.88 – 18.8   = ?

1.983
2.975
3.963
4.973
5.NOT



60rs contained in a box consists of one rupee, 50 paisa and 25 paisa coins in the ratio 3 : 5 

: 8. What is the number of 50 paisa coins in the box?

1.20
2.30
3.40
4.45
5.50

एक बॉक्स में रखे गए 60 रुपये में एक रुपया, 50 पैसे और 25 पैसे के लसक्के 3: 5: 8 के अनुपात में 
हैं। बॉक्स में 50 पैसे के लसक्कों की संख्या क्या है?



2, 3, 6, 15,   45,   156.5,   630

1.6
2.3
3.45
4.156.5
5.15



A boat covers 96 km downstream in 8 hours. Find the speed of the boat in still water, if 

speed of the boat in still water is 1.5 times of speed of water stream?

1.7.4 km/hr
2.4.8 km/hr
3.6.8 km/hr
4.6.4 km/hr
5.7.2 km/hr

एक नाव िारा के अनुकूल 96 दकमी की दरूी 8 घंटे में तय करती है. शांत पानी में नाव की गलत ज्ञात कीजिये, यदद
जस्थर पानी में नाव की गलत पानी की िारा की गलत का 1.5 गुना है?


